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%matplotlib inline
import numpy as np
import matplotlib.pyplot as plt

def show_plot(plt):
plt.axhline(0, color="black’, linewidth=.5)
plt.axvline(0, color="black’, linewidth=.5)
plt.ylim(-0.5, lim)
plt.legend()
plt.show()

def func(x):
return 4*x*(x-1)**2+1

lim=2

xx=np.linspace(0.01, lim, 41)
dx=0.5

plt.plot(xx, xx,label="(0)")
plt.plot(xx,xx**2 label="(1)")
plt.plot(xx, func(xx-0.1796520430),label="'(2)")
show_plot(plt)

plt.plot(xx, 0.1/xx,label="'(3)")
yy=np.linspace(1, 1, 41)
plt.plot(xx, yy,label='(4)")
plt.plot(xx, -xx+1,label="(5)")
show_plot(plt)
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%matplotlib inline
import numpy as np
import matplotlib.pyplot as plt

def show_plot(plt):
plt.axhline(0, color="black’, linewidth=.5)
plt.axvline(0, color="black’, linewidth=.5)
plt.ylim(-lim, lim)
plt.legend()
plt.show()

def func(x, x0, x1, x2):
return 5*(x-x0)*(x-x1)*(x-x2)

lim=1.5



xx=np.linspace(-lim, lim, 41)
dx=0.5
plt.plot(xx, func(xx, -dx, -dx, dx),label="(0)")
plt.plot(xx, func(xx, -1,-1,0),label="(1)")
plt.plot(xx, func(xx, -1, 0,0),label="(2)")
show_plot(plt)
plt.plot(xx, func(xx, 0,0,1),label="(3)")
plt.plot(xx, func(xx,0,1,1),label="(4)")
plt.plot(xx, func(xx, -dx, dx, dx),label="'(5)")

show_plot(plt)
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